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RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

AESE IR EFRPIEME(L Sv/h)
e EpES
No. | HETAf 7 BB & F ZE | soom B A xH (k- AP THE) .
o 5E | mom | 4m | mom | sm | wom
AEHE | HERE | AERE | HERE | AERE | BERE
50cm 0.06 0.07 0.06 0.08 0.08 0.09
104 | {REH | RES - RELUS— |[FETHRERERE 8H28H
1m 0.06 0.07 0.06 0.07 0.08 0.08
50cm 0.09 0.10 0.10 0.11 0.11 0.12
105 HEM | REE-REwVS— |ELURESE 8H28H
1m 0.10 0.12 0.11 0.11 0.11 0.12
50cm 0.18 0.25 0.10 0.11 0.12 0.16 o
106 | fFEW | REE-REtLA— |BWUCELOFRELSE 8H28H [EEZ] 22—C7LNLISEEESLTHEA
1m 0.20 0.26 0.10 0.10 0.12 0.15
50cm 0.09 0.10 ) .
107 REM ZDih 2Z2)IERFTIREAR 8H28H BoERant=6l BES 10#8IE
1m 0.08 0.10
i 50cm 0.14 0.16 0.08 0.10 0.11 0.13
108 | fFEH WERREIST |BHEREHST 8H29H
1m 0.16 0.18 0.08 0.10 0.12 0.14
i 50cm 0.18 0.18 0.10 0.12
109 | fFEH WERRESST |HESLEREHST 8H28H [HEZ] £L
1m 0.17 0.18 0.11 0.12
i 50cm 0.13 0.13 0.09 0.09
110 | fBEm WEERREISDT |ALCHREHST 8H28H [HEZ] £L
1m 0.13 0.13 0.08 0.10
) . ) 50cm 0.05 0.07 0.05 0.05
11| FEh WERRESIST |[PLULALRESST 8H28H [HEZ] £L
1m 0.05 0.06 0.05 0.05
) ) 50cm 0.08 0.09 0.06 0.06 0.08 0.09
12 | {REMH WREBRREHIST |bHOREHSD 8H28H
1m 0.08 0.08 0.06 0.08 0.08 0.09
) ) ) 50cm 0.05 0.06 0.07 0.07 0.07 0.08
13 | fREMH WERERREYVST |FELREVSD 8H29H
1m 0.06 0.06 0.07 0.06 0.07 0.08
) ) ) 50cm 0.07 0.10 0.07 0.10 0.11 0.11
114 | {RFEMH WREBRREHIST | hAHEELRESST 8H29H
1m 0.08 0.09 0.08 0.12 0.10 0.11
) . ) 50cm 0.09 0.12 0.09 0.09 0.09 0.10
115 | {REMH BERRREYIST |DEETREYIST 8H28H
1m 0.08 0.10 0.08 0.09 0.09 0.11
o ) 50cm 0.09 0.11 0.06 0.07 0.08 0.09
116 | {REH Z0Hh REREXESEMN(D 88298
1m 0.10 0.11 0.07 0.07 0.08 0.09
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RF N KEE Rt KA (RESTHRYD)
BERKE KR (RF A

AESE IR EFRPIEME(L Sv/h)
o EE%
No. | TETH 7 S 2 7 FE | soom Hib A xH (- ABOFHE) =
bl sm | wom | 4@ | mom | sm | mem
RERE | HERE | BERE | PEeR | AEsR | #EeE
50cm 0.09 0.11 0.05 0.06 0.09 0.11
17 | FEH ZDfth FEHTOEDLYE 8H29H
m 0.08 0.11 0.06 0.07 0.09 0.10
50cm 0.14 0.15 0.10 0.11
118 REM ZDih FERTENLE 8H29H [EEE] &L
m 0.13 0.15 0.10 0.12
. o 8 1 et NI 50cm 0.05 0.05 B A O ERBIAGEL =0 . KEDO A BT
19 | BE™H ZDfth BEBBREETAH—ERNSRE 8H28H - 005 007 [EEZ] ®L
50cm 0.18 0.09 FEORMBERELH: [ILOSHhRESST
120 REM WEERIREYIST |FLOSHhREHST 8H29H FBERIC kY FIR s
m 0.15 0.08 [EEE] &L
. " e - . . % 50cm 0.12 0.08 748 Hh 5
121 ﬁ}éﬂi %0)1'@. ;EEWE*1&%T’("*_EXL\Q\%{?L SHZSE " 011 0.08 [E%] %L
50cm 0.06 R R R .
122 | {REM ZF0ith IyA—LIELEVE—EYL) 8H29H EHith AOELBEAGEL =6, KREADAHEE
m 0.07 [BEE%] &L
. oo . . N 50cm 0.08 0.06 S48 Hh 1
123 | {REM Z Dt WERBETAH—EREF—HMNTVAIE| 8A29H - 008 005 [EEZ] ®mL
50cm 0.19 0.08 0.15
124 | {REM ZDfth BEEHRIZCLAE 8H29H iR
m 0.18 0.08 0.15
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